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B e ® AW R |
TATUSH o I DA & ? |
(1) e Tt (2) HUE el

(3) STHHTATS ST (4) THHTT SAeft

& gt s gafea Hifve ok = e |
U el 6 TR 8 T SW N :
A, SETESt (1) YETEr (@)
B. waest (i) <ThE (FAE)
C. SmwRht (i) e (HrEm)
D. Sformmr  (iv) @R (SHE)
Tc_’:

A B C D
() @v) G @i (@)
@ @ G (i) @) !
(3) () (@) @v) (i)
(4) (i) Gv) (@) =)

wftrg wdeh dem smfer feman s 2
(1) waRf@ s (2) e e
@) R d  (4) Hm e

a7t w8t wae BN @ &7 ° yEied
wleh I et B 7
(1) et
(3) AR

(2) TrmEn
(4) Trite

1857 % T&dd] GUTH H el HERIT i

gerEal & fore fopa a= 7 B wErar
¥h oft 7

(1) <& 2) Feh

() FEETS (4) SR

1.

2.

Who was the president of Jaipur
Prajamandal during the Quit India
Movement ?

(1) Hiralal Shastri

(2) Karpurchand Patni

(3) Jamanalal Bajaj

(4) Ram Karan Joshi

Match the correct pairs by using the
codes given below and select the
correct answer :

A. Jasnathji (i) Revasa (Sikar)

B. Sheetlaji (ii)) Chaksu (Jaipur)
C. Jambhoji (iii) Mukam (Nokha)
D. Jeen Mata (iv) Katariasar (Bikaner)
Codes :

A B C D

(1) @(v) G G @)
@ @ () (i) (1v)

@) G O Gv (i

4) (i) (Gv) (@) (i)

The famous Bharthari fair is organised in
(1) Bharatpur district

(2) Alwar district

(3) Jaipur district
(4) Sikar district

Ali Bakshi Khayal is the prevalent folk
theatre style of which region ?

(1) Karauli (2) Chirawa
(3) Alwar (4) Chittor

Which state sent military assistance to
help the Maharao of Kota during the
freedom struggle of 1857 ?

(1) Bundi (2) Karauli
(3) Jhalawar (4) Jaipur
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ARG U W § ford’ w1 oms

2
(1) aTer e (2) =R REem
(3) gevid et (4) =A™

av 1628 3. H Agre T WIS faEiea
&1 ferem fafya feaman 7

(1) weedH (2) I gERTg
(3) e (4) fersrem™

frr 3 3 B T T B 49 %
T fRrEmE R

(1) s ge, e
(2) 3G wa Yo, U
(3) e frem, Sqam

(4) STeTHEe, FAR

1948 ® foFT IR TS99 ) e o
g o1 fAmfor femam w2

(1) SugR, SR, SHMR, B
(2) YTEYU, frerTg, STeTTETS, el
(3) IR, SHTST, FRE, FATwTE
(4) ST, WAL, ST, FHledt

forforfea gt & & R e ¥ farem
ferrera et wifta fpam 2 2

(1) HaieTs (2) WS

(3) TR (4) =

forerferea & & o & o Jor F et
I I HT AT TS BT R 7

(1) =8 (2) ST

3) = (4) IR TA

The author of ‘Marwar Ra Pargana Ri
Vigat’ is :

(1) Dayal Das

(2) Charan Shiv Das

(3) Muhnot Nainsi

(4) Padmanabh

Who painted Ragmala paintings in
Mewar in the year 1628 ?

(1) Sahebdin

(2) Shafi Muhammad

(3) Srirangdhar

- (4) Bishan Das

Which of the following Palace is

~ famous as Chhitar Palace ?

(1) Bijolai Palace, Bijolai

(2) Umaid Bhawan Palace, Jodhpur
(3) Shiv Nivas, Udaipur

(4) Jal Mahal, Jaipur

Which four states were joined to form
Matsya Union in 1948 ? '

(1) Jodhpur, Jaipur, Bikaner, Kota

(2) Shahpura, Kishangarh, Jhalawar,
Karauli

(3) Udaipur, Banswara, Dungarpur,
Pratapgarh

(4) Alwar, Bharatpur, Dholpur, Karauli

Which of the following forts is
declared by UNESCO as World
Heritage Site ?

(1) Bhensroadgarh (2) Mandalgarh
(3) Gagron (4) Bundi

In which of the following folk dances, -
no musical instrument is used ?

(2) Bam dance
(4) Walar dance
a

(1) Gavari dance
(3) Agni dance
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(1) ATevg § (2) 3rRUTTEIS WU H
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(1) T HLat — Hea A
(2) HeA A — e 3
(3) HEA YA — WA TS
(4) AT T TUYH TG

fefeiflag & @ SH-%H ¥ WK
YRGS U8R Yeur 8§ JafRrd § ?
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LIREIRCI
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(1) AAB,DWE (2) A,CTWD
(3) A,B,CW@D (4) B,CwWD

(R ——— AL e e
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14,

15,

Dafla and Miri hills are situated in
(1) Nagaland

(2) Arunachal Pradesh

(3) Manipur

(4) Assam

Which of the following tried to
establish a relationship between Indian
monsoons and Tibetian Plateau ?

(1) M.T. Yin

(2) H.Flohn

(3) P. Koteshwaram

(4) C. Newton

The period of maximum occurrence of
Kalvaisakhi rains in India is

(1) Mid February — Mid March
(2) Mid March — Mid April
(3) Mid April — Mid May

(4) First week of March

Which of the following plateaus are

located in Peninsular plateau region ?
A. Bundelkhand:-Upland
Meghalaya Plateau

Malwa Plateau

Deccan Plateau

m o 0w

Ladakh Plateau

Codes :

(1) A,B,DandE (2) A,CandD
3) A,B,CandD (4) B,CandD
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(1) IEfiasr  (2) IwEsRad o
(3) TouTE (4) sSHE

A & S 8 9 § gaiftie a1g wumfig
SERIDES IR

(1) 2= 7 e

(2) e e Frerer i fem

() T aéa fe |

(4) TSIUA T gfEor ufgEet wn

R 1 ferem &= TR @ it gty
6 G 8 T @ 2 - |
(1) TTH16%  (2) TIH125% !
(3) TMHA33%  (4) TEIET50%
Frrferfes 1 gifera <Hiftre wen fw o
%l | TE IA HT I HIAC :
-1 =-11
(STafd THR) (T 94)
A. SumpRe s () Ueige
quigrdl 94
B. #mEaq (i) &= |
C. swmfeardfla A a7 (i) wqa |
D. womhwta s (v) gl }
LSHERILSSE) l
R |
A B C D |
D 0 G (i) (iv) |
@ G) Gv) GiD) () |
3) () Gv) (@) (111) 1
@ Gv Gi) G) |

16. Shola forests are
(1) Wet temperate (2) Tropical moist
(3) Alpine (4) Tidal

17. The largest flood affected areas found
in which part of India ?

(1) Trans Ganga plains
(2) Middle and lower Ganga plains
(3) Eastern coastal plains

(4) South Western part of Gujarat

18. How much area of India is affected by
the condition of recurring severe
droughts ?

(1) About 16%
(3) About33%

(2) About 25%
(4) About 50%

19. Match the following and select the

correct answer from the codes given

below :
List-I List-II
(Vegetation type)  (Important Trees)
A. Tropical dry (i) Rosewood

deciduous forest
B. Mangroove forest (ii) Teak

C. Tropical thorny  (iii) Acacias

forest

D. Tropical semi (iv) Sundari

evergreen forest

Codes :
A B C D
(1) @ @) 3ii) (iv)

2) @) @v) (i) ()
@) G) Gv) (@ (ii)
@ (@Gv) (i) () (@)
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Hiert, e T AR ot Towe <6l

ft HY-Terarg I = =T AW & ?

(1) 3 ufgeef A &

(2) 3T Te1g JYETE b S A
ES

(3) FETh T A &

(4) Sg-HuTed Tl Aerf &

frferfaa & § St afeat T 76 9
T T TE 8 7 -

A. T B. B A€

C. AT D. #EH TG

E. MG

ﬁ:

(1) ®ad E (2) B@W@C

(3) CWE (4) C,DWE

e a9 gaeror fad 2017 & ATER

e % for Rt o waiferes 9 =—oaH
T AT RTS8 ?
waits =
(1) s - g%
(2) 3T - g%
(3) stgamer -~ €T
(4) AN — JEER

iR § @ o1 Tk gAfa TEl @ 7

(1) FEh-SEEafm - e v
Q) TmaaRm - WA
(3) = afeH ~ BUH BgH
(4) s e -

ST el

| 20.

o ————— L e — ] TS i i St} A TS VAT

21.

22,

Sikar, Jhunjhunu and Nagaur districts
are falling under which Agro-climatic -
zone of Rajasthan ?

0]
)

Arid western plains

Transitional inland

drainage

plain of

3)
(C))

Semi-Arid eastern plains

Flood prone eastern plains

Which of the following river are not
the part of Gangatic river system ?

A. Mejriver B. Menal river
C. Morenriver D. Manasiriver

E. Yajamriver

Codes :
(1) Only E (2) BandC
(3) CandE (4) C,DandE

According to the Forest Survey of India
Report 2017, the maximum and the
minimum forest area is found in which
of the following districts of Rajasthan ?

Maximum Minimum
(1) Baran — Churu
(2) Udaipur — Churu
(3) Banswara — Sikar
(4) Alwar — Jaisalmer

Which one of the following is not
correctly matched ?

(1) Luni-Jawai Basin
(2) Chambal Basin -
(3) Mahi Basin
(4) Banas Basin

|

Godwar region

Ravine land

Chhappan plains

Bangar region
01
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eehl ¥ TSR ST IcTed | 3ol
W18 | 39l @ @ TR &

(1) THITURA (2) mgxaam‘a“{ﬁ
(3) SEARFNAH (4) b 9 TR A

Frafefaa =1 gafea Hifse qen = fig
-1 =-11
(St afer) (rafefe)
A eaT O R U (1) diEE, AmR
B. sef¥se e (i) e,
TS TATTTG
C. gad St (iii) =TeTre,
qfISHT TSN
D. @R Soft af@MT (iv) BeAldl, SHUqR
?{ %
A B C D
(i) (v) @) (@)
(2 @v) @) @) @)
(3) (v) (i) (@) (i)
@ () G (i) (iv)

(D

SFRTOMT 2011 3 3IHR, TSR & i
¥ et o =man amfie @ wEd
ST THEEAT g e & ?

(1) T G L

(2) I GRR

(3) ERYL T il
(4) G doh
GRITHTC oy Titel e &

(1) R, St (2) SR, U9
(3) WM, TR (4) €, TF

I 24,

¥

25.

26.

(1) Sirohi, Jalore

Rajasthan has been a leading producer
of garnet since decades. Its mines are
mainly located at

(1) Tonk and Jodhpur

(2) Jaipur and Alwar

(3) Jaipur and Dausa

(4) Tonk and Ajmer

Match the following and select the
correct answer from the codes given
below :

List-1 (Energy List-11
project) (Location)
A. Bhadla solar (i) Khivnsar,
park Nagaur
B. Waste energy (ii) Devgarh,
project Pratapgarh
C. Wind energy (iii) Balotara,
project Barmer
D. Solar energy (iv) Phalodi,
project Jodhpur
Codes :
A B C D
(@i @v) () @
(2 G@v) Gi) @) @)
(3) Gv) @i) @@ (D)
4 (@ aG) (i) (@Gv)

As per Census 2011, which districts of
Rajasthan are showing lowest rural
and urban decadal population growth
rates respectively ?

(1) Ganganagar and Jhunjhunu
(2) Kota and Dungarpur
(3) Dungarpur and Kota
(4) Jhunjhunu and Sikar

Sundhamata conservation reserve is
located in

(2) Jalore, Jodhpur
(3) Barmer, Jalore (4) Sikar, Jhunjhunu
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FaerET g e & fafafea @ @
frafmdfeme ?

(1) i
3) =@

() s/
(4) FEETS

e 9 ferrame aftrat g @
(1) 3T et

(2) TET I

(3) citft smaett

(4) ufvast sraett

T &1 Fefafga 8 @ = a1 T )
A TR & ‘Gier fdt faerma wrfsra
w1 e i g ?

(1) I=AR
(3) MUY

(2) S
(4) 3L

SFITOMT 2011 % 1FER, fFrafaRea # @

FHAITE TE S ?

A. TIEM & 24.9% SHEET T
S A AR |

B. TSEIM % W&l &l 1 i
9142 | |

C. TRy ¥ fepan e formaama
Sigerer et # g ST R |

D. TSEIM H &9 2001 | 2011 & &
SHEE T W 35 SAfe/ent
fopreiiet sgiadt 8 |

%:

(1) A,B@WD

(3) B,CWD

(2) A,CW@D
(4) A,B,CTW@D

28.

29.

30.

31.

Navlakha lake is situated in which of
the following districts of Rajasthan ?

(1) Kota (2) Baran
(3) Bundi (4) Jhalawar
Bhangarh and Sirawas hills are

situated in

(1) North Aravalli

(2) Mid or Central Aravalli
(3) Southern Aravalli

(4) Western Aravalli

Which of the following city of
Rajasthan is not a part of
“Development of Solar Cities
Programme”, Govt. of India ?
(1) Ajmer (2) Jaipur

(3) Jodhpur (4) Udaipur

As per Census 2011, which of the
following statements are correct ?

A. 24.9% population of Rajasthan
lives in urban areas.

B. The sex-ratio in urban areas of
Rajasthan is 914.

C. Highest child sex-ratio in
Rajasthan found in Banswara
district.

D. In Rajasthan population density
increased by 35 persons / sq. km.
during the year 2001 to 2011.

Codes :
(1) A,BandD
(3) B,CandD

(2) A,CandD

4) A,B,CandD
_ 01
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. 5T i g i HEd §

(1) R a=
2) TR ="
(3) TR IS 1 3uvm
(4) TRr g 1w

Aa foepra e (2018) % 3rgaR fowa
% 189 <Wi # AMa fam o wra H
ife (&) #1127
(1) 116
(3) 153

(2) 130
(4) 187

2001 ¥ 2011 % HeI WG | FHEEAT i

queh gig o oft
(1) 21.5% Q) 17.7%
3) 17.5% 4 17.2%

‘YRd § 9§ 2016-17 § galfeh =T

SACT FA A AT TSI BTG Y 7
(1) I IH, HGRTSZ, FrAicHh

(2) HETUSE, JE N, TS

(3) WERISE, ITR WaH, BRAmn

(4) I W, HENTSE, Fewmerel wewm

IR oI W Hhe Wl 3G
=C+1+G + (X - M), Tl T 301G
& A 6 = TRt 3 9w Tt =
=99 v

(1) 3are fafu

(2) == fafy

(3) ¥ fafy

(4) FHARE T

SRSt LR ‘U S S} Tl e i T Tt Viasiitninds Uit

33.

34,

35.

36.

Depreciation is also called

(1) Fixed capital accumulation
(2) Fixed capital expenditure

(3) Consumption of fixed capital
(4) Fixed capital stock

According to Human Development
Report (2018), India’s Human
Development ranking among 189
countries of the World is :

(1) 116 (2) 130

(3) 153 (4) 187

The decadal growth rate of population
of India between 2001-2011 has been

(1) 21.5% 2) 17.7%
(3) 17.5% 4) 17.2%
Which were the three highest

sugarcane producing states of India in
2016-17?

(1) U.P., Maharashtra, Karnataka
(2) Maharashtra, U.P., Punjab
(3) Maharashtra, U.P., Haryana
(4) U.P., Maharashtra, H.P.

The GDP at Market price=C +1+ G
+ (X — M), select this method of
measuring GDP from the following -
methods ?

(1) The Product method

(2) The Expenditure method
(3) The Income method

(4) None of these
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5 FE P IE T A B T b
o wefRE S e % &9 4 g
ReaT T g ?
(1) TwiteE
3) fomt

(2) d.HTE.
(4) A

W@W(PMMY)%W
ST 3UH IE FW F ¢ B WA
o e T STl § | Sfrsha T
wefigpd 1 T Tl § TE® -

(1) T5d@ ) T 109@
3) T 129m@ @) T 159@

fmidend A esa T e ?
(1) HTeH SRS

(2) A AHAHES

(3) e

(4) 5@ TS

SRt FEed & dd |
7 A P E R ?
(1) TSRS 4 HAaeh Hraw A
FATEHS A
(2) TS AT B Fral¥H 3
FATEH oS :
(3) IS WH FHEH HR A
CIEECACK]
(4) FEee AMH HSWH WX A
FATGH A

ad o TS 3 W1 IFAH
Rpga TR AT ? :
(1) Taferm fomem

2) fea i

(3) H.AA. T

(4) TS IS

|

37.

38.

39.

40.

- (3)

Which company has been appointed as
Managed Service Provider under GSTN
(Network) ?

(1) Infosys
(3) WIPRO

(2) T.CS.
(4) ORACLE

Under Prime Minister Mudra Yojana
(PMMY), loans of small amounts are
sanctioned to start own enterprise. The
maximum amount that can be
sanctioned is :

(1) 5lakhrupees (2) 10 lakh rupees
(3) 12 lakh rupees (4) 15 lakh rupees

Which of the following is not a green
house gas ?

(1) Carbon dioxide
(2) Carbon monoxide
(3) Methane

(4) Nitrous oxide

What is the full form of UNFCC

with respect to global warming
convention ?
(1) United  Nations Framework

Convention on Climate Change

United ~ Nations  Federation
Convention on Climate Change

United  Nations  Framework
Centre on Climate Change

)

United Nations Federation Centre
on Climate Change

)

Who made the first estimate of
National Income in India ?

(1) William Digby
(2) Findlay Shirras
(3) V.K.R.V.Rao
(4) Dadabhai Naoroji

01
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i weiEm 2019-20 % IHER a9
2018-19 ¥ f@r (2011-12) $Hwdi W
Hehel USY TRE ITG o ITAR TS

& 3T g e e oft ¢
(1) 7.10% (2) 6.97%
(3) 7.4% (4) 7.22%
= 4 3 a1 € Tom f gwd
g T ® ?

(1) T 2) HHS
(3) SIETHT (4) <ere
= 4 5 o1 @ s # O grr wenfig
T e U TR R ?
(1) = | (2) SEY
(3) A (4) AR
o™ 0 a9 & fopa & fau e d 9
B € T FT /TG T ?
(1) RIICO (2) RFC
(3) IDBI (4) SIDBI
T8l SIS 9TR gfEsET fopd T=at <t
TR AT R ?

(1) TSI 3R GEA9eH
(2) TS 3R oA
(3) TSEYH 3R I=e
(4) TS 3R g

aniies wEiE 2019-20 & AR fRR
<hHrat (2011-12) T TSR <t 2018-19
T gty safa st oft
(1) T57,192
(3) 78,570

(2) % 68,048
(4) 82,072

s VA S UM A Pt TR} it VRSBt Tessbi i skt npmiiamtt
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As per the Economic Review 2019-20,
what was the economic growth rate of
Rajasthan as per GSDP at constant
(2011-12) prices in 2018-19 ?

(1) 7.10% 2) 6.97%
(3) 7.4% 4) 7.22%

Which one of the following is the
famous breed of goats in Rajasthan ?

(2) Kankrej
(4) Choukala

(1) Nagorie
(3) Jakhrana

In which one of the following cities,
RIICO’s Agro Food Park does not
exist ?

(1) Kota (2) Jodhpur
(3) Sriganganagar (4) Jaipur

Which one of the following
institutions acts as nodal agency for
development of SEZs in Rajasthan ?

(1) RIICO (2) RFC

(3) IDBI (4) SIDBI

Mahi Bajaj Sagar Project is a joint
project of

(1) Rajasthan and Madhya Pradesh
(2) Rajasthan and Gujarat

(3) Rajasthan and Punjab

(4) Rajasthan and Haryaﬁa

. As per the Economic Review 2019-20,

the per capita income of Rajasthan at
constant (2011-12) prices in 2018-19
was :

(1) 57,192
(3) ¥ 78,570

(2) % 68,048
(4) 782,072
[u]
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Which of the following thermal power
stations in Rajasthan has the highest
installed capacity ?

(1) Suratgarh thermal power station
(2) Kota thermal power station
(3) Kalisindh thermal power station

(4) Chhabra thermal power station

Which of the following is a state
sponsored scheme of Rajasthan ?

(1) Mahatma Gandhi
Vikas Yojana

Janbhagidari

Rajasthan' Rural Livelihood Project
MGNREGA
DRDA Administrative Scheme

()
3)
“4)

Mukhyamantri Rajshree Yojana seeks
to develop a positive attitude towards
girl child in the society and improve
her health and education status. How
much grant is provided under this
scheme ?

(1) 25,000
(3) 75,000

(2) 50,000
(4) % 1lakh

Which one of the following materials
can not be used to make an optical
lens ?

(1) Water
(3) Plastic

(2) Glass
(4) Clay

Which one of the following is not the

name of oil fields in Rajasthan ?
(1) Aishwarya
(3) Lakshmi

(2) Saraswati

(4) Raageshwari
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Which one of the following pair is

correctly matched ?
(1) Ascaris — Virus

lumbricoides

(2) Salmonella typhi — Mycoplasma

(3) Entamoeba — Protozoa
histolytica

(4) Plasmodium Bacteria

vivex

Which one of the following statements

is correct ?
(1) Leucocytes are enucleated.

(2) Old & damaged erythrocytes are
destroyed in spleen.

(3) Thrombocytes are produced in

liver.

(4) Agranulocytes secrete histamine,

serotonin and heparin.

The speed of ultrasonic wave in air is

(1) much lower than that of audible

sound waves in air

(2) much higher than that of audible

sound waves in air

(3) higher than that of light waves in

arr

(4) same as that of audible sound

waves in air
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" Which is the largest satellite launch

vehicle developed by India ?
(1) GSLVMK-1I(2) GSLV -1
(3) PSLV-XL (4) PSLV-CA

According to the National Digital

" Communication Policy 2018, which of

the following is not a part of “National
Broadband Mission” - (Rashtriya
Broadband Abhiyan) ?

(1) Bharat net (2) Gram net

(3) Nagar net (4) Janta net

Which one of the following is a
crystalline solid ?
(1) Rubber

(3) Table salt

(2) Plastics
(4) Wax

Which of the following pair of
elements exist as liquids at
atmospheric pressure and 25 °C
temperature ?

(1) Bromine and Caesium

(2) Bromine and Mercury

(3) Mercury and Lithium

(4) Mercury and Argon

PSLV-C45 successfully launched
EMISAT and 28 international
customer satellites, of four countries
on 1 April, 2019. The four countries
with their number of satellite (within
bracket) are

(1) USA (24), Lithuania (2), Spain
(1) & Switzerland (1)

USA (24), Lithuania (2), Spain
(1) & Sweden (1)

France (24), USA (2), Spain (1) &
Switzerland (1)

USA (24), Switzerland (2), Spain
(1) & Lithuania (1)

2)
3)

(4)
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White lung cancer is caused by
(1) Asbestos
(3) Silica

(2) Cotton lint
(4) Paper pulp

Increase in concentration of the
toxicant at successive trophic levels is
known as

(1) Bioaccumulation

(2) Biomagnification

(3) Bioproductivity

(4) Biosynthesis

Which of the following is NOT a unit
of electric power ? :

(1) Joule / second
(2) Watt
(3) Kilo watt hour

(4) Horse power

Most Bt toxins are insect-group-
specific. The toxin is coded by a gene,

named as
(1) cry (2) dry
(3) fry (4) gry

Select the allotropes of carbon from
the follo-wing :
A. Graphene B. Fullerene
C. Carborundum D. Diamond
E. Carbyne

(1) A,B,DandE (2) A,CandD

(3) A,B,CandD (4) A,BandC
[n ]
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Which one of the following is an
acidic salt ?

(1) Sodium chloride
(2) Sodium carbonate
(3) Ammonium chloride

(4) Potassium sulphate

The so called fourth state of matter
refers to

(1) dryice
(3) mercury

(2) LPG
(4) plasma

Natural rubber is polymer of
Y]
()
3)
4)

ethylene
isoprene
styrene

vinyl chloride

Match List-I with List-II and select the
correct answer by using the codes
given below the lists :

List-1 List-II

A. Pavagada (i) Gujarat

. solar park

B. Charanka  (ii) Rajasthan
solar park

C. Bhadla solar (iii) Tamil Nadu
park

D. Kamuthi (iv) Karnataka
solar park

Codes :

A B C D
(@ (i) Gv) @)
Gi) Gv) (i) @)
(i) (i @ @Gv) -
(iv) () @) (i)

M
)
3)
4

01
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(1) 540 - 1600 kHz
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(3) 5.925-6.425 GHz
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Consider the following statements and
choose the correct ones using the

codes given below :

A. Graphite is good conductor of
heat & electricity.

B. Graphite is good conductor of

heat but an electrical insulator.

C. Diamond is good conductor of

heat but an electrical insulator.

D. Diamond is bad conductor of heat
& electricity.

Codes :
(1) AandD (2) AandC
(4) BandD

(3) BandC

Which one of the following statements

is incorrect about six month review

about the economy of Rajasthan from

April to September, 2020 ?

(1) The fiscal deficit was ¥ 33,109
crore.

(2) Tax revenue dropped by 11.87
percent.

(3) Non-tax revenue dropped by 45
percent.

(4) State GST went down by 25.48
percent.

The frequency band for FM broadcast
is :

(1) 540 - 1600 kHz
(2) 74-216 MHz
(3) 5.925 - 6.425 GHz
(4) 88 - 108 MHz



73

74.

75,

76.

71.

a8 2020 ¥ T Mee Aerish waTEw
TeU QORI & FERT foha T

(1) s rgae fafiee =i

(2) TR AR 3T $fe @l

(3) g 3R i argw faafiee =1

(4) W sl 31w sfean fafiee =i

fpem 9 e Aafid WA ueh
HfREs|

(1) ax (2) SR

(3) WM (4) SHeR

TS W U e e FE
AT WA 1 T8AT T B

(1) HeANeH (2) 3nfem

(3) TSEH 4) feEr

TR feee fererht T | A ST @ 7
(1) ERIER TS
(2) wWiTdg
(3) TR 4
(4) st wner foee

AN UG TR TR TS
e SH1 ST % T =01 6 9R A
frfafaa weri @t ufen :

() FSET 1,10 HUg TRER H AT

g il |

(i) IR % fou ueky Y w
gL 1575 R s @ R |

(1) et %Y (i) T2 |

(2) e H (i) AR |

(3) TAE) TR () FTIR

(4) M HHATAE |

I
!
l
i
!
|
!
]
|
l
|

18

73.

74.

75.

T7.

The Golden Peacock Env1r0nment
Management award for the year 12020
has been conferred to

(1) Copper Private Limited

(2) Airport Authority of India

(3) Lead and Zinc Mines Limited
(4) Steel Authority of India Limited

Kishan Bagh a newly built desert park
is situated in

(1) Jaipur
(3) Barmer

(2) Jodhpur
(4) Jaisalmer

The first state in India to establish a
mission on livelihoods
(1) Madhya Pradesh(2) Odisha

(3) Rajasthan (4) Bihar

‘Parakram Diwas’ is celebrated in the
memory of

(1) Chandra Shekhar Azad

(2) Bhagat Singh

(3) Subhash Chandra Bose

(4) Bal Gangadhar Tilak

Read the following statements about .
the new phase of Ayushman Bharat
Mahatma Gandhi Rajasthan Health
Insurance Scheme ?

(i) The scheme will cover 1.10 crore
families.

(i) The available packages for
treatment now being raised to
1575.

Choose the correct answer from the
code :

(1) Only statement (i) is true.
(2) Only statement (ii) is true.
(3) Neither (i) nor (ii) is true,
(4) Both the statements are true.
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DRDO successfully conducted the
trial of which weapon on January 22,
20217?

(1) SAAW
(3) Warsaw

(2) Arya
(4) Shakti

According to the Global Fire Power
Index — 2021, Indian Army occupies
which position in the global index ?

(1) Second (2) Third
(3) Fourth (4) Fifth

Identify the person, who has been
conferred with Padma Vibhushan in 2021 ?
(1) Tarun Gogoi

(2) Ram Vilas Paswan

(3) Keshubhai Patel

(4) Sudarshan Sahoo

As per National Education Policy —
2020, the current 10+2 system will be
replaced by

(1) 2+3+5+5 system
(2) 5+4+4+3system
(3) 5+3+3+4system
(4) 4+3+3+5system

ODOP stands for

(1) One Development One Project
(2) One Development One Product
(3) One District One Product

(4) One District One Project

India on January 20, 2021 began the
supply -of COVID-19 vaccines under
grant assistance to 6 countries. Which
of the following countries is not
included in that list ?

(1) Nepal (2) Myanmar
(3) Bangladesh  (4) Afghanistan
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Who among the following developed
the ‘Signal App’ in 2014 ?

(1) Mark Zuckerberg
(2) Brian Acton
(3) Moxie Marlinspike
(4) John Koum

Which statement about Ustad Ghulam
Mustafa Khan is incorrect ?

(1) Ustad Ghulam Mustafa Khan was
awarded Padma Shri in 1991.

(2) Ustad Ghulam Mustafa Khan was
awarded Sangeet Natak Akademi
Award in 2004.

Ustad Ghulam Mustafa Khan was
awarded Padma Bhushan in 2006.

(4) Ustad Ghulam Mustafa Khan was
awarded Padma Vibhushan in
2018.

3)

What is Desert Knight 21 ?
(1

RTDC initiative to attract foreign
tourists in Jaisalmer.

Joint military exercise between
India and France.

()

3)

Name given to Israel air attack on
Iran.

4

Vigil exercise by Border Security
Force along Indo-Pak border in
western Rajasthan.

Corona Virus is a

(1) Double Stranded DNA Virus
(2) Single Stranded RNA Virus
(3) Single Stranded DNA Virus
(4) Double Stranded RNA Virus

01
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(3) New Delhi

Zero Fail Mission is :

(1) US secret service mission to hold
Presidential oath taking ceremony
without any mishap.

(2) Name given to all women pilot
team’s flight from San Francisco

to Bengaluru.

3

Name given to recently held
Income Tax raids in Jaipur.

“

Name given to recently ended
expedition to catch terrorists in
Kashmir valley.

The person of Indian origin, who has
been nominated as the Surgeon
General of the USA in the new team of
President Joe Biden

(1) Vivek Murthy (2) Tarun Chhabra
(3) Vidur Sharma (4) Vinay Reddy

What was the final second innings
score of India when it won the fourth
test match against Australia held
recently ?

(1) 329 runs for 7 wickets
(2) 326 runs for 6 wickets
(3) 328 runs for 7 wickets
(4) 329 runs for 8 wickets

‘One Planet Summit’ for Biodiversity
on 11 January, 2021 was held in

(1) New York (2) Paris
(4) Tokyo
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“Sarvam Khalvidam Brahma” is quoted in
(1) Brihadaranyaka Upanishad

(2) Kathopanishad

(3) Mandukya Upanishad

(4) Chhandogya Upanishad

Consider the following statements
about Kutiyattam ?

A. It is atheatre art of Kerala.

B. It is included in the UNESCO
intangible cultural heritage list.

Choose the correct answer :
(1) Only A is correct

(2) Only B is correct

(3) Neither A nor B is correct
(4) Both A and B are correct

Consider the following

about Humayun’s Tomb :

A. It is in the middle of a Char bagh
style garden.

B. Red sand stone is the main
building material of the tomb.

statements

Choose the correct code :

(1) Only Ais correct

(2) Only B is correct

(3) Neither A nor B is correct
(4) Both A and B are correct

Kajari songs are

(1) Devotional songs of Maharashtra
(2) Tribal songs of Gujarat

(3) Rain songs of Uttar Pradesh

(4) Love songs of Punjab

The famous male torso of Harappa is
made of

(1) stone

(3) terracotta

(2) bronze
(4) silver
01
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(1) o g - faer

) @ e sl

(3) AT Efew - W

(4) el srEwgeeTE — FeaTg
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Consider the following statements
about Subhash Chandra Bose :

A. He was appointed as Chief
Executive Officer of Calcutta
Municipal Corporation in 1924.

B. He was elected Mayor of Calcutta
Municipal Corporation in 1930.

Choose the correct code :

(1) Only A is correct

(2) Only B is correct

(3) Neither A nor B is correct

(4) Both A and B are correct

The archaeological
located at the river

(1) Luni
(3) Kothari

site  Bagor is

(2) Banas
(4) Chambal

Arrange the following rulers of
Kachwaha dynasty in chronological
order :

(i) Bhagwant Das (ii) Man Singh-I
(iii) Bhao Singh  (iv) Jai Singh-I
Choose the correct code :

(1) (@), (i), (iii) & (iv)

(2) (iii), (i), (ii) & (iv)

(3) (@), (i), (iv) & (iii)

(4) (iii), (i1), (i) & (iv)

Which one of the following is not
correctly matched ?

(1) Kunwar Singh - Bihar
(2) Lakshmi Bai - Jhansi
(3) Nana Sahib - Munger

(4) Maulvi Ahmadullah - Faizabad
o
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